

Asymptotical Solutions in a Reactive non-ideal Hydrodynamic medium



Dr. Rajan Arora

**Assistant Professor,
Department of Applied Sciences & Engineering,
Indian Institute of Technology (IIT) Roorkee,
Saharanpur Campus, U.P., India**

Basic Equations

The equations of one-dimensional unsteady planar and non-planar motion in a reactive non-ideal hydrodynamic medium are

$$\frac{\partial \rho}{\partial t} + \rho \frac{\partial u}{\partial x} + u \frac{\partial \rho}{\partial x} + \frac{m \rho u}{x} = 0,$$

$$\frac{\partial u}{\partial t} + u \frac{\partial u}{\partial x} + \frac{1}{\rho} \frac{\partial p}{\partial x} = 0,$$

(1)

$$\frac{\partial p}{\partial t} + u \frac{\partial p}{\partial x} + \rho a^2 \frac{\partial u}{\partial x} + \frac{m \gamma p u}{x} - (\gamma - 1) \rho q Q = 0,$$

$$\frac{\partial \lambda}{\partial t} + u \frac{\partial \lambda}{\partial x} - Q = 0.$$

The equation of state, for motion in a non-ideal gas, is of the form:

$$p = \rho RT(1 + b\rho),$$

where b is the internal volume of the gas molecules with $b\rho \ll 1$.

First we put the system of equations (1) in the matrix form as follows:

$$\frac{\partial U}{\partial t} + A \frac{\partial U}{\partial x} + B = 0, \quad (2)$$

where U and B are column vectors defined by

$$U = (\rho, u, p, \lambda)^{tr}, \quad \text{and}$$

$$B = \left(\frac{m\rho u}{x}, 0, \frac{m\gamma(1+b\rho)p u}{x} - (\gamma-1)\rho q Q, -Q \right)^{tr}, \quad (3)$$

and A is the 4 x 4 matrix the components

$$A^{11} = A^{22} = A^{33} = A^{44} = u,$$

$$A^{12} = \rho, \quad A^{23} = \frac{1}{\rho}, \tag{4}$$

$$A^{32} = \rho a^2 = \gamma p(1 + b\rho).$$

Also the eigenvectors satisfying the normalization condition

$L^{(i)} R^{(j)} = \delta_{ij}$, $1 \leq i, j \leq 4$, where δ_{ij} represents Kronecker delta. These normalized eigenvectors are obtained as

$$L^{(1)} = \left(1, 0, -\frac{1}{a_0^2}, 0 \right), \quad R^{(1)} = (1, 0, 0, 0)^{tr},$$

$$L^{(2)} = (0, 0, 0, 1), \quad R^{(2)} = (0, 0, 0, 1)^{tr}, \tag{5}$$

$$L^{(3)} = \left(0, \frac{\rho_0}{2a_0}, \frac{1}{2a_0^2}, 0 \right), \quad R^{(3)} = \left(1, \frac{a_0}{\rho_0}, a_0^2, 0 \right)^{tr},$$

$$L^{(4)} = \left(0, -\frac{\rho_0}{2a_0}, \frac{1}{2a_0^2}, 0 \right), \quad R^{(4)} = \left(1, -\frac{a_0}{\rho_0}, a_0^2, 0 \right)^{tr}$$

We look for the asymptotic solution of the form:

$$U \sim U_0 + \varepsilon U_1(x, t, \bar{\theta}) + \varepsilon^2 U_2(x, t, \bar{\theta}) + O(\varepsilon^3), \quad (6)$$

where $\bar{\theta} = (\theta_1, \theta_2, \theta_3, \theta_4)$ represent the “fast variable” defined as $\theta_i = \frac{\phi_i}{\varepsilon}$, where ϕ_i is the phase function

Now we use (6) in (2), expand A and B in Taylor's series in powers of ε about $U=U_0$, replace the partial derivatives $\frac{\partial}{\partial X}$ by $\frac{\partial}{\partial X} + \varepsilon^{-1} \sum_{i=1}^4 \frac{\partial \phi_i}{\partial X} \frac{\partial}{\partial \theta_i}$, and equate to zero the coefficients of ε^0 and ε^1 in the resulting expansions, to obtain

$$O(\varepsilon^0): \sum_{i=1}^4 \left(I \frac{\partial \phi_i}{\partial t} + A_0 \frac{\partial \phi_i}{\partial x} \right) \frac{\partial U_1}{\partial \theta_i} = 0 \quad (7)$$

$$O(\varepsilon^1): \sum_{i=1}^4 \left(I \frac{\partial \phi_i}{\partial t} + A_0 \frac{\partial \phi_i}{\partial x} \right) \frac{\partial U_2}{\partial \theta_i} = -\frac{\partial U_1}{\partial t} - A_0 \frac{\partial U_1}{\partial x} - (U_1 \cdot \Delta B)_0 - \sum_{i=1}^4 \frac{\partial \phi_i}{\partial x} (U_1 \cdot \Delta A)_0 \frac{\partial U_1}{\partial \theta_i}. \quad (8)$$

The phase functions ϕ_i ($1 \leq i \leq 4$) satisfy the eikonal equation

$$\text{Det} \left(I \frac{\partial \phi_i}{\partial t} + A_0 \frac{\partial \phi_i}{\partial x} \right) = 0. \quad (9)$$

We choose the simplest phase function of this equation, namely

$$\phi_i(x, t) = x - \lambda_i t, \quad 1 \leq i \leq 4. \quad (10)$$

For each phase ϕ_i , $\frac{\partial U_1}{\partial \theta_i}$ is parallel to the right eigenvector $R^{(i)}$ of A_0 , and thus

$$U_1 = \sum_{i=1}^4 \sigma_i(x, t, \theta_i) R^{(i)}. \quad (11)$$

where $\sigma_i = (L^{(i)} \cdot U_1)$ is a scalar function called the wave amplitude. We assume that $\sigma_i(x, t, \theta_i)$ has zero mean value with respect to the fast variable θ_i , that is,

$$\lim_{T \rightarrow \infty} \frac{1}{2T} \int_{-T}^T \sigma_i(x, t, \theta_i) d\theta_i = 0. \quad (12)$$

We then use (11) in (8) and solve for U_2 . To begin with we write

$$U_2 = \sum_{j=1}^4 m_j R^{(j)},$$

substitute this value in (8), and premultiply the resulting equation by $L^{(i)}$ to obtain the system of decoupled inhomogeneous first order PDEs:

$$\sum_{j=1}^4 (\lambda_i - \lambda_j) \frac{\partial m_i}{\partial \theta_j} = -\frac{\partial \sigma_i}{\partial t} - \lambda_i \frac{\partial \sigma_i}{\partial x} - L^{(i)} (U_1 \cdot \Delta B)_0 - \sum_{i=1}^4 L^{(i)} (U_1 \cdot \Delta A)_0 \frac{\partial U_1}{\partial \theta_j}.$$

(13)

The characteristic ODEs for the i -th equation in (13) are given by

$$\dot{\theta}_j = \lambda_i - \lambda_j \quad \text{for} \quad j \neq i, \quad \dot{\theta}_i = 0, \quad \dot{m}_i = H_i, \quad (14)$$

where

$$H_i = (x, t, \theta_1, \theta_2, \theta_3, \theta_4) = -\frac{\partial \sigma_i}{\partial t} - \lambda_i \frac{\partial \sigma_i}{\partial x} - L^{(i)}(U_1, \Delta B)_0 - \sum_{i=1}^4 L^{(i)}(U_1, \Delta A)_0 \frac{\partial U_1}{\partial \theta_j}.$$

The wave amplitude σ_i , $1 \leq i \leq 4$, satisfy the following system of coupled integro-differential equations

$$\frac{\partial \sigma_i}{\partial t} + \lambda_i \frac{\partial \sigma_i}{\partial x} + a_i \sigma_i + \Gamma_{ii}^i \sigma_i \frac{\partial \sigma_i}{\partial \theta_i} + \sum_{i \neq j \neq k} \Gamma_{jk}^i \lim_{T \rightarrow \infty} \frac{1}{2T} \int_{-T}^T \sigma_j(\theta_i + (\lambda_i - \lambda_j)s) \dot{\sigma}_k(\theta_i + (\lambda_i - \lambda_k)s) ds = 0, \quad (15)$$

where $\dot{\sigma}_k = \frac{\partial \sigma_k}{\partial \theta_k}$ and the coefficients a_i and Γ_{jk}^i

$$a_i = L^{(i)}(R^{(i)} \cdot \Delta B)_0, \quad \Gamma_{jk}^i = L^{(i)}(R^{(j)} \cdot \Delta A)_0 R^{(k)}. \quad (16)$$

The interaction coefficients Γ_{jk}^i denote the strength of coupling between the j -th and k -th wave modes ($j \neq k$).

The coefficients Γ_{ii}^i referring to the non-linear self-interaction, are non-zero for genuinely non-linear waves and zero for linearly degenerate waves. The coefficients a_i , Γ_{jk}^i and Γ_{ii}^i provide a picture of the non-linear interaction process, the non-zero being determined by

$$\begin{aligned}
a_1 &= \frac{(\gamma - 1)q(Q + \rho Q_\rho)_0}{a_0^2}, & a_2 &= -\left. \frac{\partial Q}{\partial \lambda} \right|_0, \\
a_3 &= \frac{ma_0}{2x} - \frac{(\gamma - 1)q(Q + \rho Q_\rho + a_0 Q_u + \rho_0 a_0^2 Q_p)_0}{2a_0^2}, \\
a_4 &= -\frac{ma_0}{2x} - \frac{(\gamma - 1)q(Q + \rho Q_\rho - a_0 Q_u + \rho_0 a_0^2 Q_p)_0}{2a_0^2},
\end{aligned} \tag{17}$$

$$\begin{aligned}
\Gamma_{13}^1 &= \frac{a_0}{\rho_0(1 + b\rho_0)} = -\Gamma_{14}^1, \\
\Gamma_{34}^1 &= -\Gamma_{43}^1 = \frac{a_0[\gamma(1 + b\rho_0)^2 - 1]}{\rho_0(1 + b\rho_0)}, \\
\Gamma_{14}^3 &= -\Gamma_{13}^4 = -\frac{a_0(1 + 2b\rho_0)}{2\rho_0(1 + b\rho_0)}, \\
\Gamma_{33}^3 &= -\Gamma_{44}^4 = \frac{[\gamma(1 + b\rho_0)^2 + 2b\rho_0 + 1]a_0}{2\rho_0(1 + b\rho_0)}.
\end{aligned} \tag{18}$$

The resonance equations (15) can now be written as

$$\frac{\partial \sigma_1}{\partial t} + a_1 \sigma_1 = 0, \quad \frac{\partial \sigma_2}{\partial t} + a_2 \sigma_2 = 0,$$

$$\frac{\partial \sigma_3}{\partial t} + a_0 \frac{\partial \sigma_3}{\partial x} + a_3 \sigma_3 + \Gamma_{33}^3 \sigma_3 \frac{\partial \sigma_3}{\partial \theta_3} - \lim_{P \rightarrow \infty} \frac{1}{2P} \int_{-P}^P K \left(x, t, \frac{\theta_3 + \phi}{2} \right) \sigma_4(x, t, \phi) d\phi = 0, \quad (19)$$

$$\frac{\partial \sigma_4}{\partial t} - a_0 \frac{\partial \sigma_4}{\partial x} + a_4 \sigma_4 + \Gamma_{44}^4 \sigma_4 \frac{\partial \sigma_4}{\partial \theta_4} + \lim_{P \rightarrow \infty} \frac{1}{2P} \int_{-P}^P K \left(x, t, \frac{\theta_4 + \phi}{2} \right) \sigma_3(x, t, \phi) d\phi = 0,$$

where, the kernel K is defined as

$$K \left(x, t, \frac{\theta + \phi}{2} \right) = \frac{\Gamma_{14}^3}{2} \frac{\partial \sigma_1}{\partial \theta_1} \left(x, t, \frac{\theta + \phi}{2} \right). \quad (20)$$

Let the initial value of σ_j be $\sigma_j \Big|_{t=0} = \sigma_j^0(x, \theta_j)$. Hence (19)_{1,2} gives

$$\sigma_1(x, t, \theta_1) = \sigma_1^0(x, \theta_1) e^{-a_1 t}$$

and $\sigma_2(x, t, \theta_2) = \sigma_2^0(x, \theta_2) e^{-a_2 t}$, and then the kernel K is given by

$$K(x, t, \theta) = \frac{\Gamma_{14}^3}{2} e^{-a_1 t} \frac{\partial \sigma_1^0}{\partial \theta_1}(x, \theta_1). \quad (21)$$

If the initial data $\sigma_j^0(x, \theta)$ are 2π periodic functions, then (19) becomes

$$\frac{\partial \sigma_3}{\partial t} + a_0 \frac{\partial \sigma_3}{\partial x} + a_3 \sigma_3 + \Gamma_{33}^3 \sigma_3 \frac{\partial \sigma_3}{\partial \theta_3} - \frac{1}{2\pi} \int_{-\pi}^{\pi} K\left(x, t, \frac{\theta_3 + \phi}{2}\right) \sigma_4(x, t, \phi) d\phi = 0, \quad (22)$$

$$\frac{\partial \sigma_4}{\partial t} - a_0 \frac{\partial \sigma_4}{\partial x} + a_4 \sigma_4 + \Gamma_{44}^4 \sigma_4 \frac{\partial \sigma_4}{\partial \theta_4} + \frac{1}{2\pi} \int_{-\pi}^{\pi} K\left(x, t, \frac{\theta_4 + \phi}{2}\right) \sigma_3(x, t, \phi) d\phi = 0.$$

The asymptotic solution (6) of hyperbolic system (2) satisfies the initial data

$$U(x, 0) = U_0 + \varepsilon U_1^0(x, x/\varepsilon) + O(\varepsilon^2), \quad (23)$$

Using the Lagrange's subsidiary equations for $(19)_3$ and $(19)_4$, we obtain

$$\frac{d\theta_j}{dx} = \frac{e_j \Gamma_{jj}^j \sigma_j}{a_0}, \quad \frac{dt}{dx} = \frac{e_j}{a_0}, \quad j = 3, 4 \quad (24)$$

where

$$e_j = \begin{cases} +1, & \text{if } j = 3, \\ -1, & \text{if } j = 4. \end{cases}$$

We integrate $(24)_2$ to obtain

$$x - e_j a_0 t = s_j = \text{constant.}$$

In terms of the characteristic equations, $(19)_3$ and $(19)_4$ can be written as

$$\frac{d\sigma_j}{dt} = -a_j \sigma_j, \quad j = 3, 4 \quad (25)$$

which yields after integration

$$\sigma_j = \sigma_j^0(s_j, \xi_j) e^{-a_j t}, \quad (26)$$

along the rays $s_j = x - e_j a_0 t = \text{constant}$, where the function σ_j^0 is obtained from the initial condition (23).

Thus, we obtain from (24)

$$\frac{d\theta_j}{dt} = \Gamma_{jj}^j \sigma_j = \Gamma_{jj}^j \sigma_j^0(s_j, \xi_j) e^{-a_j t}, \quad (27)$$

which yields after integration

$$\xi_j = \theta_j + \frac{\Gamma_{jj}^j}{a_j} (\sigma_j - \sigma_j^0). \quad (28)$$

The solution of (2), satisfying (23), where $U_1^0(x, x/t)$ has compact support, is obtained as

$$\rho(x, t) = \rho_0 + \varepsilon \sigma_1^0(x, x/\varepsilon)e^{-a_1 t} + \varepsilon \left(\sigma_3^0(x - a_0 t, \xi_3)e^{-a_3 t} + \sigma_4^0(x + a_0 t, \xi_4)e^{-a_4 t} \right) + O(\varepsilon^2),$$

$$u(x, t) = \varepsilon \frac{a_0}{\rho_0} \left(\sigma_3^0(x - a_0 t, \xi_3)e^{-a_3 t} - \sigma_4^0(x + a_0 t, \xi_4)e^{-a_4 t} \right) + O(\varepsilon^2), \quad (29)$$

$$p(x, t) = p_0 + \varepsilon a_0^2 \left(\sigma_3^0(x - a_0 t, \xi_3)e^{-a_3 t} + \sigma_4^0(x + a_0 t, \xi_4)e^{-a_4 t} \right) + O(\varepsilon^2),$$

$$\lambda(x, t) = \lambda_0 + \varepsilon \sigma_2^0(x, x/\varepsilon)e^{-a_2 t} + O(\varepsilon^2).$$

and the initial values for σ_i ($1 \leq i \leq 4$) are obtained from (29) specified at $t=0$ as

$$\sigma_1^0(x, x/\varepsilon) = \rho_1^0(x, x/\varepsilon) - \frac{1}{a_0^2} p_1^0(x, x/\varepsilon),$$

$$\sigma_2^0(x, x/\varepsilon) = \lambda_1^0(x, x/\varepsilon),$$

$$\sigma_3^0(x, \xi_3) = \frac{1}{2a_0} \left(\rho_0 u_1^0(x, \xi_3) + \frac{1}{a_0} p_1^0(x, \xi_3) \right), \quad (30)$$

$$\sigma_4^0(x, \xi_4) = -\frac{1}{2a_0} \left(\rho_0 u_1^0(x, \xi_4) - \frac{1}{a_0} p_1^0(x, \xi_4) \right).$$

This is the complete solution of (2) and (23); any multivalued overlap in this solution is resolved by introducing shock into the solution.

The shock location θ_j^s satisfies the relation

$$\frac{d\theta_j^s}{dt} = \frac{1}{2} \Gamma_{jj}^j (\sigma_j^{(-)} + \sigma_j^{(+)}), \quad j = 3, 4 \quad (31)$$

Here, $\sigma_j^{(-)}$ and $\sigma_j^{(+)}$ are the values of σ_j just ahead and behind the shock, respectively. We have $\sigma_j^{(-)} = 0$ for the undisturbed region ahead of the shock. Now we use (26) to obtain the differential equation of the location of the shock

$$\frac{d\theta_j}{dt} = \frac{\Gamma_{jj}^j}{2} \sigma_j^0(s_j, \xi_j) e^{-a_j t} \quad (32)$$

Conclusion

The method of weakly non-linear geometrical acoustics is used to obtain the small amplitude high frequency asymptotic solution to the basic equations governing one dimensional unsteady planar, cylindrically and spherically symmetric flow in a reactive non-ideal hydrodynamic medium in which an irreversible chemical reaction takes places.

References

- [1] Y. B. Zel' Dovich, On the theory of the propagation of detonation in gaseous systems, *J. of Experimental and Theoretical Physics of the U.S.S.R.* 10 (1940) 542-568.
- [2] J. Von Neumann, Theory of Detonation Waves, *OSRD Report 549* (1942).
- [3] R. Courant and K. O. Friedrichs, *Supersonic Flow and Shock Waves*, Interscience, New York, 1948.
- [4] W. Fickett and W. C. Davis, *Detonation*, University of California Press, Berkeley, 1979.
- [5] G. B. Whitham, *Linear and Nonlinear Waves*, Wiley, New York, 1974.
- [6] J. D. Logan and J. B. Bdzil, Self-Similar solution of the spherical detonation problem, *Combustion and Flame* 46 (1982) 253-269.

- [7] V. D. Sharma and Gopala Krishna Srinivasan, Wave interaction in a non-equilibrium gas flow, *Int. J. Non-linear Mechanics* 40 (2005) 1031-1040.
- [8] Rajan Arora and V.D. Sharma, Convergence of Strong Shock in a Van der Waals gas, *SIAM J. Applied Mathematics* 66 (2006) 1825-1837.
- [9] V. Choquet-Bruhat, Ondes asymptotique et approchees pour systemes d'equations aux derivees partielles nonlineaires, *J. Math. Pures Appl.* 48 (1969) 119-158.
- [10] J. K. Hunter and J. Keller, Weakly nonlinear high frequency waves, *Comm. Pure Appl. Math.* 36 (1983) 547-569.
- [11] A. Majda and R. Rosales, Resonantly interacting weakly nonlinear hyperbolic waves, *Stud. Appl. Math.* 71 (1984) 149-179.

Thank You!